Home Learning – Year 6
Week 3– Answers 
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Reading answers- this week’s poem is very subjective so it is likely that you’ll have some quite different answers. This may be a good time to talk to a friend about their answers, did you write similar or different things?
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L. The numbers nthesequence ncrease by 23 each tme.

Find the missing numbers
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Which word from the Narrator'sfirst sentence of dialogue means the same as ‘old’?
Tick one.

fault

elderly

miles.

0®00

(hushed tones) One of us should say something. We should ask for more food.
How should Boy 2 delver this ine? Tick one.

O confidently

@ quietly

O arrogantly

O repeatedly

Find and copy one word from the first stage direction which means the same as lit up'.
illuminated

.who lay sprawled across the floor with rumbling stomachs.
What word could the author have used instead of ‘sprawled' in this phrase?

Pupils’ own responses, such as: The author could have used the word ‘spread! instead
of ‘sprawled'.

Compose yourself, Bumble, and answer me distinctly.
Rewrite thisline in your own words 5o that it keeps the same meaning.

Pupils' own responses, such as: Calm down, Bumble, and give me a clear answer.

Explain two ways in which the author makes it clear that Boy 1 is very hungry,
Pupils’ own responses, such as: The author makes it clear that Boy 1 is very hungry
because he gives him the stage direction of holding his stomach, which is something you
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1. write sl the umbers i the corec laces on the diagram.

2.4 prime number and 3 quare number ave 3 total f 26 What are the two numbers?

s| +|o|=26

3. Two factors of 42 have 3 difference of 3

What are the o numbers? 3ands





